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Distance to which NEOcam could detect Chelyabinsk meteor that hit Russia Feb. 2013
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m⋅:= radius of object, increased from 17 to 20 based on NOVA program

from our L1 orbit, we would view the sunlit side of the object as it approached the 
earth.  This estimate assumes rapid rotation, it would be hotter still otherwise.T 280 K⋅:=

5 sigma flux limit NEOcam,
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cf. Lagrange L1 point is 1.5 million km from earth, confirming that NEOcam could have detected this object 
well (~ 45 days) before it hit earth!
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⋅ 0.497Mton= *extremely* close to the 500 kton measurement of energy from infrasound.
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